1. Вставь вместо звёздочки знак «+» или «-»:

50 * 30 = 80                                  70 * 20 = 90
30 * 50 = 80                                  20 * 70 = 90
80 * 30 = 50                                  90 * 70 = 20
80 * 50 = 30                                  90* 20 = 70

50 * 40 = 90                                  60 * 40= 20
30 * 60 = 90                                  10 * 80 = 90
70 * 40 = 30                                  5 0* 40 = 10

20 * 20 * 30 = 10
30 * 20 * 10 = 40
40 * 10* 20 = 10


2. Пройди лабиринт 
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4. Расшифруй слово.
	Решите примеры. Расшифруйте слово.
	20
	54
	42
	90
	56
	77
	49
	56

	
	
	
	
	
	
	
	



48-6=           (О)

51+3=          (Л)

47+2=          (И)

57-1=           (Е)

90-70=         (С)

73+4=          (Н)

50+40=        (Ж)
	Решите примеры. Расшифруйте слово.
	30
	74
	82
	81
	66
	88

	
	
	
	
	
	



89-1=          (Е)

79-5=           (О)

60-30=         (С)

86-4=          (Л)

62+4=           (Ц)

85-4=          (Н)



	Решите примеры. Расшифруйте слово.
	90
	84
	12
	25
	46
	36

	
	
	
	
	
	



10+80=          (У)

11+1=           (Н)

42+4=         (Ц)

37-1=          (А)

29-4=           (И)

82+2=          (М)



	Решите примеры. Расшифруйте слово.
	43
	84
	78
	78
	71
	38

	
	
	
	
	
	



48-5 =          (Р)

75+3=           (С)

82+2=          (О)

76-5=         (И)

34+4=          (Я)






















